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Fig. 1. Reaction of regenerated plant herbicide resistant PGMS(YA3530ms) (light) to 0.3% PPT. Control variety
Juanbyeo (left) died at 10 days after PPT spray, but the line YA3530ms could survive.
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Fig. 2. Plant performance of the HRPGMS (YA3530ms), the pollen parent Daesanbyeo and F1 hybrid
HRPGMS/Daesanbyeo after maturation in field.

Table 1. Heterobeltiosis and heterosis for yield of the six hybrids crossed with the HRPGMS (Y A3530ms) and

pollen parent.
Combination Female Male Hybrid 1) Heterobeltiosis (%) 2) Standard heterosis (%)

YA3530ms/CB4 - 92g  295g 321 155

Y A3530ms/Nonghobyeo - 135g  241g 179 126
Y A3530ms/Daesanbyeo - 191g  318g 167 167
YA3530ms/Donganbyeo - 131g  211g 161 111
Y A3530ms/Surabyeo - 159g  243g 153 127
Y A3530ms/Ilmibyeo - 97g 277g 286 145

1) Heterobeltiosis (%) = Fl/better parent x 100, 2) Standard heterosis (%) = F1/Daesanbyeo % 100
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